| Math 1B Practice Test: Unit 6
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1f there is no solution or infi nzlely many, explam why.
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ELIMIVATION

Solve the follawing systems of equations algebraically. S8 <
“Thow all work and check only #3. o
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#7. Suppose you bought supplies for a party. Three rolls of streamers and fifieen party hats cost $30. Later,
“you bought two rolls of streamers and four party hats for $11. Wit and solve a system of equations to
determine the cost of sireamers and pargy hats, find their costs, {Zgﬁgg T6 P q
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#8.  Sam necds to rent a car for a one-week trip to Oregon. He is considering two companies:

A+ Auto Rental: $175 plus $0.10 per mile s ﬁ =3 EO e Hg

Zﬁppy Auto Rental; $220 plus $0.05 permile. .= «
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Write and solve a system of equations to detemn when the rentosts are th same for both compa
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State three so!utmns to the following system of inequalities.
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#10.  Youw have a gift certificate to a book store worth $60. Each paperback book is $4 and each hardcover
- book is $15 You must buy.at least 5 books in order to use the gift certificate.

a) Write and graph a system of 1nequah‘aes to model the number of each kind of books you can
buy. Be sure to label all parts of your graph. Xz $#of DODey o :i]._ff:-.a
b) State at least one solution set that would work. ; ”
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Solve the following systems algebraically. Hint: set them equal and solve for x, then find y. |
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FOLLOW STE p23 ¢ 24
Graph the system of linear mequal:tzeg Choose the correct type of line and shade in the correct spot.
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Write three ordered pairs that would be a solution to these system:s. %ﬁME AN
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17. Suppose you intend to spend no more than $60 buying books. Hardback books cost $12 and paperback
cost $5. How many books of each type can you buy? o M E BS + )
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18.

SAME RS Wig
Miss Jones wants to buy at least 10 books. Each paperback book costs an average of $10 and each
hardcover book costs an average of $20. Miss Jones is planning to spend less than $240 on books.
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19. The science club wants to buy t-shirts for the organization. They have a budget of $120. Plain white t-
shirts cost $3 and red t-shirts with writing costs $6. There are 20 students in the club but all are not sure
if they are going to purchase a t-shirt. A
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